
Additionner, soustraire  
des nombres relatifs4

CHAPITRE

34  a. 7,5 – (– 15) = 7,5 + 15 = 22,5
b. – 12,6 – 5,2 = – 12,6 + (– 5,2) = – 17,8
c. – 24,9 – (– 11,5) = – 24,9 + 11,5 = – 13,4
d. 16,5 – 5,6 = 16,5 + (– 5,6) = 10,9
e. – 17,25 – 2,75 = – 17,25 + (– 2,75) = – 20
f. – 58 – (– 43,5) = – 58 + 43,5 = – 14,5
g. – 53 – 104 = – 53 + (– 104) = – 157
h. – 37,5 – 82,5 = – 37,5 + (– 82,5) = – 120

b. – 3,5 c. 13,524  a. – 32,5 
d. – 40 e. – 50 f. 13

43  L’abscisse du point A est – 1.
L’abscisse du point B est 2.
L’abscisse du point C est – 2,5.
AB = 2 – (– 1) = 2 + 1 = 3
BC = 2 – (– 2,5) = 2 + 2,5 = 4,5
CA = – 1 – (– 2,5) = – 1 + 2,5 = 1,5
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